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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

1-  Bad weather has the bombers that lack modern night-attack equipment.
1) grasped 2) hampered 3) utilized 4) abated

2-  Jacob was for always arriving late for work, a habit that finally led to his being
fired from work.
1) haphazard 2) infinite 3) innate 4) notorious

3- It would put his career at risk, but that was already in , $0 what had he to lose?
1) jeopardy 2) perspective 3) magnitude 4) neglect

4-  Legal requirements state that working hours must not 42 hours a week.
1) legitimize 2) linger 3) mingle 4) exceed

5-  The student’s essay was empty of errors, indicating that it had been written.
1) painstakingly 2) massively 3) impartially 4) ingenuously

6-  The boy was simply a beggar: his bundle of newspapers was a , and we called
him the Newspaper Boy.
1) legend 2) limitation 3) pretext 4) drawback

7-  1do not ever having been to Paris, although my mother says we went there
when I was a child.
1) rehearse 2) recollect 3) recede 4) recast

8-  Because of conditions, the hikers decided to give up trying to climb the
mountain.
1) vague 2) ungainly 3) adverse 4) vigorous

9- I sat watching as the sun reached its and the muezzin began to call the people to
prayers.
1) lucidity 2) triumph 3) spectacle 4) zenith

10- The children were tired and and didn't seem interested in any of the games.
1) sluggish 2) mandatory 3) strict 4) cordial

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

A healthy man in his early 60s begins to notice that his memory isn’t (11) . More
and more often. a word will be (12) the tip of his tongue but he just can’t remember
it. He forgets appointments, makes mistakes (13) , and finds that he’s often confused
or
(14) about the normal hustle and bustle of life around him. One evening. he
suddenly finds himself (15) in a neighborhood a couple of miles from his house. He
has no idea how he got there.

11- 1) used to being as well 2) as good as it used to be
3) is not so well as it used to be 4) used as well as was it
12- 1) with 2) by 3) on 4) at
13- 1) pays his bills 2) when paying his bills
3) while bills paid 4) to pay the bills he does
14- 1) anxiously 2) anxiety 3) anxious 4) be anxious
15- 1) although walking 2) while he is walking
3) he is walking 4) walking
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

16-

17-

18-

19-

20-

Passage 1:

Skiing has become a way of life for many people. From the moment the first snowflake falls
until the spring thaw, skiers put their skis on their cars and head for the slopes. There are many
reasons behind the popularity of this winter sport.

Skiing is a true family sport that can be enjoyed by all people, whether 3 or 93 years old.
Being able to descend a hill, to turn at will, and enjoy nature at its loveliest are thrills for all
age groups.

Skiing is also interesting because it provides a variety of experiences. Snow conditions
change hourly as the temperature and weather conditions change during the day. Moreover,
every trail is different. Rarely does one pass over the same spot twice.

Improvements in ski equipment, clothing, and ski areas have made the sport more
pleasurable, comfortable, and available. Warm, light, down-filled clothing has replaced layers
of heavy sweaters. Ski equipment made with modern materials has made skis and poles lighter,
more flexible, and suited to people of all ages and abilities. The availability of skiing has also
been improved by snow-making equipment. Even in areas of the country that have very little
snowfall, snow can be made if the temperature is below 32 degrees.

For many people, skiing is an opportunity to enjoy the beauty of the out-of-doors. to
challenge their physical abilities, and finally to simply have fun. It is a sport enjoyed
worldwide and appears to be gaining in popularity constantly.

What does the passage mainly discuss?

1) People’s views on skiing 2) How to enjoy winter sports

3) Why skiing is a popular sport 4) Advantages of skiing over other sports
The word "descend" in line 5 is closest in meaning to ------------ .

1) hike 2) climb 3) cling to 4) go down
According to the passage, skiing ---—---—----- .

1) used to be more popular

2) is similar to group sports

3) provides many health benefits

4) provides people with the opportunity to appreciate the beauty of nature

The word "its" in line 5 refers to --------—--- .
1) hill 2) age 3) nature 4) skiing
It can be inferred from the passage that nowadays ------------ .

1) people can go skiing in enclosed ski slopes

2) skiers still have to wear several layers of clothing to keep warm

3) snow-making equipment can be used to make snow at any temperature

4) some special equipment makes it possible for people to enjoy skiing in warm areas
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Passage 2:

One of the most interesting and distinctive of all uses of language is commentary. An oral
reporting of ongoing activity, commentary is used in such public arenas as political
ceremonies, parades, funerals, fashion shows, and cooking demonstrations. The most
frequently occurring type of commentary may be that connected with sports and games. In
sports there are two kinds of commentary, and both are often used for the same sporting event.
"Play-by-play" commentary narrates the sports event, while "color-adding" or "color"
commentary provides the audience with pre-event background, during-event interpretation, and
post-event evaluation. Color commentary is usually conversational in style and can be a
dialogue with two or more commentators.

Play-by-play commentary is of interest to linguists because it is unlike other kinds of
narrative, which are typically reported in past tense. Play-by-play commentary is reported in
present tense. Some examples are "he takes the lead by four" and "she's in position," One
linguist characterizes radio play-by-play commentary as "a monologue directed at an unknown,
unseen mass audience who voluntarily choose to listen ... and provide no feedback to the
speaker." It is these characteristics that make this kind of commentary unlike any other type of
speech situation.

The chief feature of play-by-play commentary is a highly formulaic style of presentation.
There is distinctive grammar not only in the use of the present tense but also in the omission of
certain elements of sentence structure. For example, "Smith in close" eliminates the verb, as
some newspaper headlines do. Another example is inverted word order, as in "over at third is
Johnson." Play-by-play commentary is very fluent. keeping up with the pace of the action. The
rate is steady and there is little silence. The structure of the commentary is cyclical, reflecting
the way most games consist of recurring sequences of short activities—as in tennis and
baseball-or a limited number of activity options—as in the various kinds of football. In racing,
the structure is even simpler, with the commentator informing the listener of the varying order
of the competitors in a "state of play" summary, which is crucial for listeners or viewers who
have just tuned in.

What can be the best little for this passage?

1) Sports Commentary 2) Types of Commentary

3) Reporting Sporting Events 4) Interesting Uses of Language

The word "eliminates' in line 19 is closest in meaning to ------------ .

1) describes 2) deletes 3) changes 4) emphasizes
According to the passage, color commentary ------------ s

1) includes not only a reporting of a game but also additional information about it

2) is a unique style of reporting which is favored by linguists

3) forbids commentators from judging games and players

4) is narrative by nature and thus can’t be dialogic

According to the passage, which of the following statements is NOT true about play-by-play
commentary?

1) It features long silences.

2) It doesn’t use past forms.

3) It is suitable for different kinds of sports.

4) It provides the audience with a summary of the game.

The paragraph following the passage most probably discusses ------------ .
1) color commentary 2) successful commentators
3) commentary in other areas 4) sports commentary on TV and on the radio
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Passage 3:

Baseball has been dubbed "America's favorite pastime." and many fans contend that there is
no greater thrill than watching a good pitcher throw a skillfully delivered fastball or curveball.
Two such pitches, the "rising fastball" and the "breaking curveball," are particularly difficult
for batters to hit because these balls seem to veer in one direction or the other just as they reach
home plate. The "rising fastball" zooms forward. then appears to jump up and over the bat as
the batter swings. The "breaking curveball" curves toward home plate, but seems to plunge
downward unexpectedly at the last moment. Batters attempt to anticipate these pitches and
respond accordingly.

However, according to studies conducted by a team of engineers and psychologists, the
"rising fastball" and the "breaking curveball" do not actually exist; they are merely optical
illusions. The studies revealed that batters think the ball is approaching more slowly or falling
more quickly than it actually is, and this misperception creates the visual illusion. Also, batters
tend to have difficulty tracking the ball continuously as it approaches and so, they will briefly
divert their eyes to the spot where they think the ball will cross the plate. When a batter
misjudges the speed or angle of a pitch and glances down for a second, the ball will appear to
suddenly rise or dip—and the batter will often miss.

How will this finding affect "America's favorite pastime?" No doubt some fans will
vehemently reject the notion that the "rising fastball" and the "breaking curveball" are mere
illusions. But for others, the research findings may imbue the game with a new level of intrigue
as batters attempt to respond to pitches that don't exist.

What does this passage mainly discuss?

1) Optical illusions and the movements of pitched balls

2) The difference between fastballs and curveballs

3) Vision problems among baseball players

4) America’s favorite pastime

As used in line 1, the word "contend" could best be replaced by -------=---- .
1) disagree 2) maintain 3) operatc 4) suppose
The passage states that baseball fans ------------

1) believe that the populanty of baseball will wane vnthout fastballs or curveballs
2) are aware that rising fastball and breaking curveball are optical illusions

3) enjoy watching fastballs and curveballs the most

4) encourage researchers to conduct more research into baseball

The word "veer" in line 4 could best be replaced by ----—-------,

1) stop suddenly 2) turn slightly 3) drop sharply 4) pause temporarily
According to the passage, research studies reveal that ------------ ,

1) many batters need to have their eyesight tested

2) baseball players are not able to judge the speed of a pitch

3) fastballs and curveballs cannot be scientifically explained

4) optical illusions has made baseball less exciting over the years
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